FR2BEEARERAHERINILMFTHEE
HAHEEIBEA AT ABEHRELHBER

BENEEE
B A
BE#A RIS EFHEE LEFHE B
< BEIFEICELLIZNRZ >
< PRA >
ZEILA 130 130 0
SBEILA 130 130 0
SEEEULA 8,677 2,125 -6, 552
Br2Et i A 8,677 2,125 -6, 552
BEIRA 35, 680 36, 959 1,379
Be 53 UL A 28, 464 29, 081 617
MHEEFA 4,270 4,970 700
BHRERA 2, 846 2,908 62
ZRARRITIRA 1 1 0
A BRI EIA 1 1 0
F DD UL A 1 1 0
HURA 1 1 0
BETFRAG (D 44,389 39, 216 -5, 173
< XH >
AEBEXH 10, 762 4,137 -6, 625
& B MEN 12 12 0
Bt B S 4,543 1,160 -3, 383
FEEBAHRS 4,634 2,462 -2, 172
EERFEIL 1,573 503 -1,070
EEREXH 31,790 33, 363 1,573
A E X H 210 181 -29
HESRERMEXE 86 94 8
HEEXH 62 76 14
FHHZH 15 15 0
B3 H 29, 764 30, 781 1,017
M &XH 1,570 2,070 500
HEBE X H 5 5 0




BEEXH 78 141 63
EHEXH 1,817 1,773 44
BHEEEH 47 38 -9
REZEEXH 2 2 0
BRHAEMBEXY 50 58 8
BRI R AFE S 14 14 0
BIEERE X H 300 292 -8
SEEXH 2 2 0
EBRFTEIM 198 198 0
FHHZH 63 62 -1
RN H 247 258 11
BEHXH 494 509 15
b 360 300 60
X 40 40 0

FEFHIHE D 44, 369 39, 273 -5, 006

EXEHESNZEZEO)=(1)-(2) 20 -57 =17

< MHRERFCILINXE >

< A >

MR B FUILAGT (4) 0 0 0

< X o>

TER B R F X HET (5) 0 0 0

FEREHEESINEELE(6)=4)-5) 0 0 0

< ZDMOFBI-=LDREZ >

< BA >

T DD FEBIAGT (7) 0 0 0

< Xt >

T DMOFBHE (8) 0 0 0

TOMDFHEEWNERE(9)=(N-®) 0 0 0

T & (10) 20 20 0

%?gﬁﬁﬂmi%%ﬁéﬁ(11)=(3)+(6)+(9)7 0 77 77

HI#IRX L EE£ZS (12) 0 77 11

LEIRZIEERES (11)+(12) 0 0 0




